
 

 

    
 

 
               

 

   

 

The answer my lecture got is: 

    

  

   
      

        

  

My attempt: 

As      is an odd function    can be simplified to only having sin terms, meaning it is purely 

imaginary. 
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For n odd: 

      
  

   
      

 

   
  

    
  

   
 

 

   
  

    
   

   
  

    
  

  
  

 

 
    

  
 

For n even: 

      
 

   
      

 

   
  

  
    

   
 

   

   
 

 
       

   
 

 

   As expected. 

 

 

     
    

  
      

        

  

 

 


